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PART-A (F -31+)

Q. No. 1 (i-wvi) carries 1 mark each 1x6 = 6
Q. Nos. 2 (i-vi) carries 2 marks each ‘ 25<6 =12
Q. Nos. 3 - 6 carry 4 marks each _ 4x4 =16
Q. No. 7 carries 6 marks R 6x1 = 6

| ; Total = 40
PART-B (¥ -9&)

Q. No. 8 (i-wvi) carries 1 mark each 1x6= 6
Q. Nos. 9 (i-vi) carries 2 marks each L 2%x6 = 12
Q. Nos. 10 - 13 carry 4 marks each 4x4 = 16
Q. No. 14 carries 6 marks . o 6x1= 6

. _ - Total = 40
‘ Total (PART A & B): 40+ 40 =280
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PART-A / T-9%]

; 1x6=6
1. Answer the following :

wq elxpizd Ted Al
(i)  Define personal disposable income.
fsste Aol oea e
(1)  What is the primary objective of commerci
Afifys @ e T 2
(iii) Net indirect taxes are estimated as —
AT 2[4 (202 —
(1) Indirect taxes + Subsidies
, AT 9 + ALY
y(b) Subsidies - Indirect taxes
A - A T
(c) Indirect taxes — Subsidies
2T 9 - AR}Y
(d) Both (b) and (c)
(b) = (c) T

al bank ?

" (Choose the correct option)
(% s 19615 791)
(iv) Give two examples of capital expenditure of the government budget.
5P ICEGS ET4] U 751 wimaet |
(v)  Whattype of budget should the government prepare during inflation ?
JEFFIST AT GIFIE (PO AT AT R #0051 2

(vi) Inorder toencourage investment in the economy, the central bank will
adopt which of the following measures ? ‘

weiTifos [ TeonfEs w/RE A @@ @0 O QR AT 9T
a9 7 '
(1) Increase cash reserve ratio
#1910 gEHRe 7S i
(b) Reduce cash reserve ratio
B R BV R K OB b $faq
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(c) Increase bank rate

T T[ I R
(d)  None of the above. .
G BIG T
(Choose the correct option)
(% e [9519 71)
2x6=12

2. Answer the following :
TER ANRE O A g

(1) Afirm produces goods of Rs.500 per year and uses intermediate goods

of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate

gross value addition and net value addition by the firm.

9 AU =R 500 TR T3 TesAme I W ZA A 250 Tl o059
TS T GRS A | A I SRR AR 20 51 2, (90T e
:ﬁs‘aﬁ SCAIGH W1%: B o0 SCAIe aleml 341 |

OR/@3l

What do you understand by the probIem of double countmg in the
context of national income accounting ?

TSI I 51919 @PR61S (7 9191 1 Jfereet s gt 2
(i1) Calculate national income with the following data.
OO SRR FFRIT SIS I Sl 4 |
GDP’at market price : Rs.830 crore
q@IR7© GDP: Rs.830 (6~
Depreciation : Rs.120 crore
o= 2 Rs.120 @I
Net indirect taxes : Rs.70 crore
&b At 39 ¢ Rs.70 @IS
Net factor income from abroad : Rs. 40 crore -
o3 2RI T Testin o ¢ Rs.40 Il
: OR/ TE/E )
Differénﬁate between nommal GDP and real GDP.
ARG GDP S% 9® GDP T 71y st |

33T ECON PRl = 5 . Contd.



(i) Write feo objec ives of government budpet.
paenid) ajrwba el o e
() Write foeo differences Phetween revenue
expenditnre
Attt Ay oqf ) apr gy il fwel
OR/@ref
What is revenue receipt 2 How it s different from capil
i ol [ B ) el o) entamea oo e
() What is deficit demand 2 Write one cause of deficit dem
el /i wile e B by wiae el oAl |
OR/eelqr
What are the factors that affect investment demand in
oA [ vifews sroifds wal e ere fs (ne
(o) Write freo merits of fixed exchange rate.
{a falenm waa ybrsjfam o
OR/@relat
Define spot and forward exchange rate,
Al wieme wa wm waad) gaa s

expenditure and capital

al receipt?

and.

an economy ?

3. Explain the expenditure method of caleulating national income. 4
ST SR oA R s fSGt At @A |
OR /G ‘
Discuss the circular flow of national income in a two sector economy.
fue woafEew nEh wmE sarae 2atg SieEsal 2@t |
4. Discuss the functions of moncy. ' h 4

THIA RPN WD 4 |

5. There is a plan to increase national income from Rs.1500 crore to Rs.4000
crore. If MPC = 0.6, then what should be the change in investment to achieve
the groal ? 4
G TifE @iAa SIS S Rs. 1500 (6 B o4t Rs.4000 ¢l Batet g wam
“lfqaa w4l (e | Az MPC = 0.6 T, (U108 G2 S Toae 2'3q I AW
Afasnea st falicunea gonem g
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OR/G%41
What is marginal propensity to consume (MPC) and marginal propensity to
save (MPS) ? Show that MPC+MPS=1 ‘ 14+142=4

 eiife GoTEIR eRerel (MPC) O 2iifes Fi%ed agel (MPS) &2 orgedt @
MPC+MPS=1 |

6.  Outline how equilibrium exchange rate is determined in free market system.
S 4

o < S SR R 2 et e oA
OR/@%4!

Write a note on ‘balance of payment'.

‘SRl sers [Rac aft (Bt el

" 7. Discuss the working of investment multiplier with example. 6
RN vl ma?—m TR S |

OR /51241
Explain diagrammatically how equilibrium level of employment and income

is determined in a two sector economy with the concept of aggregate demand
and aggregate supply.

o e {3 CAPI R T2 (A SHGT
mﬁmﬁa@aﬁmqaﬁmnﬁWWWu

PART-B / 4-51

8.  Answer the following LA | Vit 1%6=6
(1) What is poverty lme ?
wifRw A &,
(i) Name any two Navaratna industries.

FRCPICT 701 79T SrpialR T e |-

(iii) Who is known as the architect of economic planning iri India ?

cireada welttos AReEme Fsftet 3 sio o am e,
(iv) What do you understand by jobless growth ?

ReiRee Taaw et [ e e

(v) Name two unconventional sources of energy

“(fq 7o AAT>IRIS T A L
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(vi)  Which of the following is a cause of ozone layer depletion ?
WETq (PINCO! Sl B A GBI Blee] ¢
(1)  Noise pollution / % e
() Air pollution / QlY ey
(¢)  Water pollution / €& elige|
(d)  None of the above / 82173 B¢ 72y
(Choose the correct optzon)

(% 133 s

9. Answer the following : . 2%6=12
TET PTRS BT i . i

(1) Write two objectives behind infrastructure developmenf in India by the
British government during Colonial rule. '

@W@WWE@QW@WW%@WW 701 ety
(i1) - Write two objectives of NITI Aayog.
NITL SIS 707 Soayy &2 |
' _ OR/&?<t
Write two factors that necessitates the mtroductlon of econom1c reform
in India.

SRS ARG HHIE AT zﬁrwct forat 1.

(i) Correctly match the two sides of the followmg table :

o OIS LA SRH SF e e ¢
Country v Rank Based on Human Development Index 2022
o™ ' | 2ozzwwwammm—wm
India/®R® . | o
China/bW == R 129
Pakistan,/ #/1{<v&1e A 132
Bangladesh/<eTItn* _ ‘ * 161
(iv) Write the full from of AYUSH. : :
AYUSH 3 377} @e{ &4l |
, OR /241 |
What do you understand by medical tourism ?
“fofaremt 21455+ gferet & el ¢
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10.

11.

13,

14.
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Write oae pOsitive and one negative impact of globalisation in e D
pconomy,
Wl T [0 [qRI1Ta B et il agliy e vl fer
) Write two ditferences hotween formal and informal aotreos of iyl

credit,

allsT) el wifeOfelan wife wlellephifeien ©evie il Al |
Write the features of the Industrial Policy, 1956,
1956 bt S fates TG Cafapr]e feel |

| OR /919
Briefly discuss the problems faced by the Indian agrriculture sector i pire
reform period.
BRI DTS Glaoq i RjeyB ANl (el A e el Al |
Discuss four important causes of poverty in India,
OISR nfFusty 51/F5Y 305 el SeElval w4 |
Write a note on condition of health infrastructure in India,
Sl g S aliafE ergia [ @b (G o |
: ‘ OR /%144
What is workforce ? Write the causes of low workforce participation rate of
female as compared to male. 4 0=4
T & ¢ AR el ST i wicHlalzea 91 11 Coldiq w7 o1 |
Write a comparative note on the contribution of agriculture, industry and
service sectors to the respective economies of India, China and Pakistan, 4
OIS, S S AR SR tet (pcad T i, Toial Wi (Tl ez el
IRG[AT BT ST (Gl &UFS | |
_ OR/941

Briefly describe the path of economic development of China,
Sl LA Teraa wARe fac Gt el i |
How is human development a broader term as compa red to human capital ?
What are the main problems of human capital formation in India ? 3+3=6

T ST QIS S G 4rell G Aot e €l 2y G e e
oo 2 FPPTIR el |

(¢)

4

/ OR /<<l
Discuss how agricultural activities can be diversified. 6
pfrrefies fRomica fod/ cafbaslel ofa @i siicEoal =t
: X . -
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